
Multiplication et Division (I)Calculez chaque produit ou quotient.40 : 8 = 6 · 12 = 10 · 10 = 9 · 11 =36 : 3 = 1 · 8 = 4 · 3 = 8 : 4 =48 : 12 = 28 : 7 = 10 · 2 = 20 : 4 =6 · 3 = 3 · 6 = 48 : 8 = 12 : 1 =12 · 5 = 30 : 6 = 50 : 10 = 88 : 8 =108 : 9 = 6 · 10 = 6 · 12 = 2 · 4 =36 : 12 = 4 · 1 = 27 : 9 = 4 : 2 =14 : 2 = 11 · 1 = 4 · 1 = 11 · 12 =7 · 4 = 40 : 8 = 54 : 6 = 12 · 6 =72 : 6 = 1 · 8 = 6 · 5 = 11 · 9 =60 : 6 = 7 · 3 = 3 · 8 = 49 : 7 =66 : 6 = 1 · 7 = 20 : 5 = 60 : 12 =54 : 6 = 10 · 7 = 9 · 8 = 4 · 1 =1 · 3 = 30 : 6 = 10 : 1 = 63 : 9 =9 · 11 = 2 · 9 = 2 · 4 = 6 · 1 =70 : 10 = 84 : 12 = 32 : 4 = 99 : 11 =60 : 6 = 5 · 5 = 9 · 7 = 4 · 2 =4 · 3 = 55 : 5 = 20 : 4 = 11 · 1 =10 · 4 = 5 · 2 = 6 · 7 = 2 · 5 =10 · 7 = 45 : 9 = 24 : 3 = 10 · 9 =120 : 12 = 6 : 1 = 6 · 12 = 9 · 3 =1 · 9 = 5 · 4 = 12 : 3 = 72 : 9 =12 · 10 = 56 : 8 = 56 : 8 = 6 · 7 =3 · 9 = 54 : 6 = 24 : 4 = 4 · 8 =4 : 1 = 5 · 11 = 24 : 3 = 4 · 11 =Mathslibres.com



Multiplication et Division (I) RéponsesCalculez chaque produit ou quotient.40 : 8 = 5 6 · 12 = 72 10 · 10 = 100 9 · 11 = 9936 : 3 = 12 1 · 8 = 8 4 · 3 = 12 8 : 4 = 248 : 12 = 4 28 : 7 = 4 10 · 2 = 20 20 : 4 = 56 · 3 = 18 3 · 6 = 18 48 : 8 = 6 12 : 1 = 1212 · 5 = 60 30 : 6 = 5 50 : 10 = 5 88 : 8 = 11108 : 9 = 12 6 · 10 = 60 6 · 12 = 72 2 · 4 = 836 : 12 = 3 4 · 1 = 4 27 : 9 = 3 4 : 2 = 214 : 2 = 7 11 · 1 = 11 4 · 1 = 4 11 · 12 = 1327 · 4 = 28 40 : 8 = 5 54 : 6 = 9 12 · 6 = 7272 : 6 = 12 1 · 8 = 8 6 · 5 = 30 11 · 9 = 9960 : 6 = 10 7 · 3 = 21 3 · 8 = 24 49 : 7 = 766 : 6 = 11 1 · 7 = 7 20 : 5 = 4 60 : 12 = 554 : 6 = 9 10 · 7 = 70 9 · 8 = 72 4 · 1 = 41 · 3 = 3 30 : 6 = 5 10 : 1 = 10 63 : 9 = 79 · 11 = 99 2 · 9 = 18 2 · 4 = 8 6 · 1 = 670 : 10 = 7 84 : 12 = 7 32 : 4 = 8 99 : 11 = 960 : 6 = 10 5 · 5 = 25 9 · 7 = 63 4 · 2 = 84 · 3 = 12 55 : 5 = 11 20 : 4 = 5 11 · 1 = 1110 · 4 = 40 5 · 2 = 10 6 · 7 = 42 2 · 5 = 1010 · 7 = 70 45 : 9 = 5 24 : 3 = 8 10 · 9 = 90120 : 12 = 10 6 : 1 = 6 6 · 12 = 72 9 · 3 = 271 · 9 = 9 5 · 4 = 20 12 : 3 = 4 72 : 9 = 812 · 10 = 120 56 : 8 = 7 56 : 8 = 7 6 · 7 = 423 · 9 = 27 54 : 6 = 9 24 : 4 = 6 4 · 8 = 324 : 1 = 4 5 · 11 = 55 24 : 3 = 8 4 · 11 = 44Mathslibres.com


